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01 L4323 12,000 12,000 0
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< 22,710
Al 26,821
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Al 26,821
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01 L& = 10,000 10,000 0
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= 2,700
Al 2,700
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01 2ol 4,000 0 4,000
O&HgR 22 ol 4,000,000& 4,000
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o EgIZZA BAAL 2 2
15,000,000& 15,000
o EYIZ2ZA oML B 2
7,000,000& 7,000
o294 12,400
o HEAE =% 200,000& x5H 53| 5,000
o AIARIRE = 100,000& x5 x123] 6,000
o NotMEIIAE A=<
200,000& *7H *13] 1,400
[ DRTIR==s] 35,907
o ERZE 1= 95,000& x57H 33| 16,245
o HRYUZE S& B2 66,000& *57H 3,762
0 B4 MNAA 2R=E 250,000 x9Y x23| 4,500
o HYAFE QUI(EH) 200,000& »57H 11,400
[ DE=2=d] 8,500
0 QA HRFX 6,500,000 6,500
0 QAL ESAIR 2,000,000& 2,000
[ DRIpNE= 18,900
0O ZUW2PHAAE AR}
45,000 354 A~ «12& 18,900
03 S AIS H H 33,500 35,000 A 1,500
O3 ELdSAHZ 22X
500,000& »50H 25,000
Os2ds & g5 SEE g
50,000& *50H 2,500
OUASRA 2 100,000& *60H 6,000
202 04| 239,700 69,700 170,000
01 2LH O HI 46,200 7,200 39,000
OoAI2Z 2= 7,000,000 7,000
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40,0003 *5H % 13| 200
OSIHNT(ZE, 20) 22 A+
3,000,000& »13H 39,000
03 =220l 22,500 2,500 20,000
OFRAZE oA 2,500,000& 2,500
OEX0E HEFE o=
5,000,000 »4H 20,000
04 =X 204l 171,000 60,000 111,000
OSIZOIH(HE, B0)2ZLY 24
5,000,000& «274 135,000
OEXUE SRAZZX ol A=
3,000,000& =12 36,000
303 &3 59,000 59,000 0
01 243 59,000 59,000 0
020801a 28 SR =+
600,000& 80 48,000
OR=32& A& 100,000& *80H 8,000
OR=2HN A& 300, 000& *20H 2 53] 3,000
307 glz2tol & 208,650 210,210 A 1,560
(e E=PNE== 208,650 210,210 A 1,560
O=Xs3 208,650,000 208,650
308 XX EHHSOIA 29,643 120,346 290,703
N 3IN2SUHUE3AHEAE A 29,643 120, 346 290,703
ONSBEFAAEH ST E 11,790, 000& 11,790
OXNU EESXLAANTBAAL SN N
17,853,000& 17,853
309 MEZ 1,500 1,500 0
02 BRAAZ 2 SHILEEZ 1,500 1,500 0
OZRNH =200 X3 1,500,000& 1,500
403 MtXISHE X201 & 4,141 0 4,141
02 SO 2SO0 HEHAHE X 2 E AL H 4,141 0 4,141
OXHIC EEXEQNALAIAE olZet &9
4,141,000& 4,141
nssd 833,600 853,600 220,000
nEsd 833,600 853,600 220,000
201 Let24E] 304,600 324,600 A20,000
01 At 2t 2l 304,600 324,600 A20,000
O u=Hl 300,000
o BtJI& nE=adAH £E3 90,000,000& 90,000
o & (J)u=sHl X 20,000,000& 20,000
o XA ALt /AEY W=H 100,000, 000& 100,000
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oXMASREA AR 20,000,000& 20,000
0 PNE /AE L= 50,000,000& 50,000
o EEXENA FH 20,000,000& 20,000
Ozg=+Y 4,600
o MHHuEg &Y 1,000,000& x4 3] 4,000
o AtHlus LBt 150, 000& *43] 600
202 04| 529,000 529,000 0
04 = Xl st Yl 37,000 37,000 0
OAeIdLE(62) ol
6,000,000& x5 30,000
OzAcldu A 7,000,000 7,000
05 323 WEHY 492,000 492,000 0
O22d N0 492,000,000& 492,000
SHEHH 604,332 304,440 299,892
M0l 604,332 304,440 299,892
201 et A H| 2,732 2,760 N 28
01 AFR2t2l bl 2,732 2,760 N 28
O +2H| 1,732
o MEOIR HRFX 1,732,000& 1,732
[ D=2=d] 1,000
o MEOIR HRFA 1,000,000& 1,000
202 (4] 1,600 1,680 A 80
01 2LHOHI 1,600 1,680 A 80
OMEDNR HRFA 1,600,000& 1,600
401 AIEHIL 20| 600,000 300,000 300,000
01 A&t 596,220 297,840 298,380
OMENI ALY 600,000,000& *x99.37% 596,220
03 A& 20HHI 3,780 2,160 1,620
OMEDR At 600,000,000& *0.63% 3,780
s 2,047,749 ,273,996 773,753
= 33,385
& 34,504
Al 1,979,860
=HEH 416,840 388,720 28,120
201 et A | 47,640 19,520 28,120
01 AFR2 2t 2l dl 7,640 4,520 3,120
OBt +=2H| 4,000
0o =W NMEZALNE d2FX
1,000,000& 1,000
o0 =% 251 e NN N
1,000,000& 1,000
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0 =22 RS UWNEFE SHH| 2,000,000& 2,000
O+ 3,640
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70,000& *13Y 43| 3,640
02 E2=2=2%H| 30,000 5,000 25,000
O&=2 AT XA 8§93 22 5,000,000 5,000
OX2 U=SD2EY NS s 2a3
25,000,000 25,000
03 A2 H| 10,000 10,000 0
O=2U NHRSEA &2 WS 6,000,000& 6,000
022 RSTA &2 s 4,000,000& 4,000
202 044 300,200 300,200 0
01 2L I 2,200 2,200 0
O=2Ue s 924 2,200,000 2,200
03 2220 210,000 210,000 0
0224+ 23 0H(SYYL,2HH =2
AL S) 200,000,000& 200,000
02=20 EXIE SIS 10,000,000 10,000
04 =Ml st dl 88,000 88,000 0
0322 DS 2 OY (A AZ, F
2 H24E 5) 88,000,000 88,000
301 et A= 69,000 69,000 0
06 212to1 =22/ (4 Hl 38,000 38,000 0
O=2H 5EANLE g2 == (HH HE, 2
3, EAHO &) 38,000, 000& 38,000
07 QBl=&E 0 bl 25,000 25,000 0
O=2U.2 5EAMNUE g2 = (EM . Ms
23, EAHO0 &) 25,000,000 25,000
09 HAIAHI XIS 2 6,000 6,000 0
O=2UHe KNS EA RSLSUE
6,000,000& 6,000
M SHHES XS 107,900 354,218 A 246,318
201 LBt 8,000 8,000 0
03 A2 G H| 8,000 8,000 0
O2A=20 XNFSALA 2FLS 8,000,000 8,000
301 et M= 99,900 99,900 0
04 XtsHHHAH XS 84,000 84,000 0]
OXse2gl 224 X& 84,000,000 84,000
09 SHAIAHI X & 2 13,900 13,900 0
OXNZEAA ES A BEA(SEM, @A S)
3,000& x1,800 5,400
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0=2 2 co9 =200=03 B0Ht 28
100,000& *45% 4,500
O EAANLE EBILA B4 10,000 400H 4,000
12 JIEtE &2 2,000 2,000 0
O+ A SH X 22| Za
100,000& *10H 1,000
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201 Bt A H| 21,830 22,630 A 800
01 At 22l ] 6,880 7,680 A 800
O =2H| 3,000
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o EH=D] YU(HEAMN HEE) 6,000 x100& 600
02FY 2 HL2E BB (H49)
50,000& *8IH A x4 3] 1,600
OZ2 | 3,880
oigs gRFa 1,000, 000& 1,000
o =&Y JIZI| HEIZEX 24
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03 A2 E H| 14,950 14,950 0
OXNIEAMNKT DRSS M2 5,000& x500 2,500
OS2 ANU2S HAIFE 6,750
o X+ M 5,000 x500& 2,500
o &8 M 50,000& *20H4 1,000
o NI M= 4 000 *500H4 2,000
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01 20l bl 1,400 1,400 0
OUAEESE gRFA 500,000& 500
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206 T 2 bl 17,700 17,700 0
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OJI2D] ZOIME (A7 € WAH)
30,000& = 100K 3,000
OJI2)] L (2,2 =2xE8) 10,0002 *4000H4 4,000
OEI=D 2L (II2I] ¥ 2TII8)
5,000,000 5,000
OS8Hs =242 BH=2) Y (SCHs THHH)
300,000 190 SH = 5,700
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 3,000 3,000 0
< 900
Al 2,100
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O35 2Ls JIIESAE & 3,000,000& 3,000
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Al 2,100
ol XEE MssSMe 2H(EX) 5,000 5,000 0
< 1,500
Al 3,500
307 glz2+ol & 5,000 5,000 0
< 1,500
Al 3,500
02 YAFHAANFEE 5,000 5,000 0
OX0Ite XEE MsSAE X
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< 1,500
Al 3,500
ZHAXNRSAHEEH A 700,000 0 700,000
401 Al HIZ 2018 700,000 0 700,000
01 A& HI 695,590 0 695,590
OXNESALHEH AE 700,000,000& *99.37% 695,590
03 Al =2 THHI 4,410 0 4,410
O3 SALEE 2HE 700,000, 000& *0.63% 4,410
NASAEEH 29 248,821 0 248,821
307 glz2tol & 248,821 0 248,821
02 It MNAHEE 67,500 0 67,500
OXJASALEE A I 67,500,000& 67,500
03 AHMEES2HHIES 181,321 0 181,321
OX3ASALME 2ZHI(21248]) 181,321,000 181,321
SH=T 3,325,920 3,235,465 90,455
HASKNL AR 3,325,920 3,235,465 90,455
101 @124l 50,728 17,151 33,577
04 JIZHHNZ2Z2XNSE+ 50,728 17,151 33,577
O=% FUAE L2AMSE EY 50,728
oJlE=a 73,280 x20L 2P« 128 35,175
o FFETE 73,2803 x5 x2H «12& 8,794
o AXREFTII=E  73,280F x12 2P ~12& 1,759
o4UiBEZE S 5,000,000& 5,000
201 £B-2dH| 2,826,920 2,803,294 23,626
01 At 22l 143,420 139,024 4,396
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R PPN = RSy
HE: YA AY B
Sel: 2T (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 105,272 85,020 20,252
01 = LHA YI 2,772 2,520 252
OSRIA=EXN g2=2 793,000& 793
OSR3HH A3s 4 1,126,000 1,126
Ottiduyg OlddE3d Az+d 493,000& 493
OO0 E HAAXN HE S XA
360,000 360
04 = H &t Bl 102,500 82,500 20,000
Oolel d8LXx As 82,500,000 82,500
Oy gsd= 20,000,000& 20,000
303 Z&f 3 314,000 305,000 9,000
01 243 314,000 305,000 9,000
OF B0IS SN A2 L T4
5,000,000& 5,000
OZ A It & 8 s XIJ 279,000,000 279,000
O3 = g 30,000, 000& 30,000
401 Al HIZ 201 I 13,000 0 13,000
01 A& HI 13,000 0 13,000
O7UWAY M2ME10 4X 13,000, 000& 13,000
405 TtatF S| 16,000 5,000 11,000
01 AL ESFH SH 16,000 5,000 11,000
O2E TUAY Axze USHAIAY 2
16,000, 000& 16,000
HHE2HZ (XX H D) 21,622,891 20,733,286 889,605
ol 2 A (AHXI& A ) 21,380,281 20,496,676 883,605
ol 2| (XX A ) 21,380,281 20,496,676 883,605
303 L&t 3 3,876,000 3,800,000 76,000
02 dta0i= 3,876,000 3,800,000 76,000
O3 3,876,000, 000& 3,876,000
04 A3 RE=S 17,504,281 16,696,676 807,605
01 H3RE= 14,341,038 13,709,940 631,098
OSRAH=2E RE= 7,258,286,000& 7,258,286
OSRAHSEE 2HS 3,787,205,000& 3,787,205
OE 22 23 3,137,795,000& 3,137,795
O 2L 253 157,752,000& 157,752
02 =22AH22E S 3,163,243 2,986,736 176,507
O=0122 & LI QAYEEE ML BE
= 3,163,243,000& 3,163,243
Jleddl (XX 8 &) 242,610 236,610 6,000
Jl2ZYl (X&) 242,610 236,610 6,000




AN XX HE D
N NS A (KX D)
|

S D2 (XX H D) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

201 Bt A | 86,940 86,040 900

01 AP 2t 2l Yl 86,940 86,040 900
o294 86,940
o g 60,0003 *3H 118 21,240
o m&Y 60,0003 *3H x365 65,700

202 04| 28,800 27,600 1,200

01 2LHOHI 28,800 27,600 1,200
OZSE=&0 Y| 100,000& x24H x12& 28,800

203 € R =&lY| 126,870 122,970 3,900

01 J|229 PR =&Y 82,600 82,600 0
OAZ 79,000,000& 79,000
OHFX =& 3,600,000& 3,600

02 HRJAYE R =&Y 38,870 35,210 3,660
O=3 38,870,000& 38,870

04 ENSHLRE=AH| 5,400 5,160 240
OXXI & A 450,000 128 5,400




